

Anti-anaemia Potential and Safety of *Morinda lucida* Leaf Extracts in Balb/c Mice Induced with Rhabdomyosarcoma Cells

*Ala, A. A.¹, Abdulkareem, A. O.²,
Akamolafe D. F.³, and
Ohia, C.M.D.⁴

¹Department of Zoology,
University of Ibadan,
Ibadan, Nigeria

²Department of Zoology,
University of Ilorin,
Ilorin, Nigeria

³Department of Science
Laboratory Technology,
Ekiti State University,
Ado Ekiti, Nigeria

⁴Department of Environmental
Health Sciences, University of
Ibadan, Ibadan, Nigeria

E-mail: adeola.ala2015@gmail.com

Corresponding Author:
Ala, A.A., as above

Keywords:

Anaemia, Cancer, Safety,
Morinda lucida,
Haematological parameters

Mots-clés:

Anémie, Cancer, Sécurité,
Morinda lucida,
Paramètre hématologique

Abstract

Anaemia, a major health challenge, results from factors including dietary deficiencies and malaria. Although reports from previous studies show that *Morinda lucida* is effective in the treatment of anaemia resulting from these conditions, little information exist to suggest its beneficial effects in treating anaemia resulting from cancer. This study therefore examined the anti-anaemia potential of *M. lucida* leaf extracts in Balb/c mice inoculated with rhabdomyosarcoma (RD) cells. Forty mice inoculated intra-peritoneally with RD cells were randomly divided into eight groups: A (untreated); Treatment groups —B1, B2 and B3 (100, 200 and 300 mg/kg aqueous *M. lucida* extracts respectively); C1, C2 and C3 (100, 200 and 300 mg/kg *M. lucida* ethanolic extracts respectively) and D (Cisplatin). The mice were treated for 2 weeks and thereafter, blood samples were collected through the orbital sinus for haematological and serum biochemical analyses. Compared with group A (3.25 ± 0.03), ethanolic leaf extracts of *M. lucida* increased white blood cell count ($\times 10^3/\text{ul}$) significantly ($p < 0.05$) in groups C1, C2, and C3 (5.45 ± 0.03 , 6.00 ± 0.05 , and 5.60 ± 0.10 respectively) but there was no significant increase of the packed cell volume in groups C and E. Compared with group A, aspartate aminotransferase (AST) levels were significantly lower in all treatment groups, and alkaline phosphatase levels (ALP) significantly lower in group B. The treatments therefore did not improve all haematological parameters in RD cell-bearing mice but elicited increased immune responses, were safe at the doses administered and consequently may be beneficial in cancer therapy.

Potentiel anti-anémique et innocuité des extraits de feuilles de *Morinda lucida* chez des souris Balb/c induites par des cellules de rhabdomyosarcomess

Résumé

L'anémie, un problème de santé majeur, résulte de facteurs tels que les carences alimentaires et le paludisme. *Morinda lucida* est efficace dans le traitement de l'anémie résultant de ces conditions. Peu d'informations existent pour suggérer ses effets bénéfiques dans le traitement de l'anémie résultant du cancer. Cette étude a donc examiné le potentiel anti-anémique des extraits de feuilles de *M. lucida* chez des souris Balb/c

inoculées avec des cellules de rhabdomyosarcome (RD). Quarante souris inoculées par voie intra-péritonéale avec des cellules RD ont été divisées au hasard en huit groupes : A (non traité); Groupes de traitement -B1, B2 et B3 (100, 200 et 300 mg / kg extraits aqueux de *M. lucida* respectivement); C1, C2 et C3 (respectivement 100, 200 et 300 mg / kg d'extraits éthanoliques de *M. lucida*) et D (cisplatine). Les souris ont été traitées pendant 2 semaines et par la suite, des échantillons de sang ont été prélevés à travers le sinus orbital pour des analyses biochimiques hématologiques et sériques. Par rapport au groupe A ($3,25 \pm 0,03$), feuille d'extraits éthanoliques de comptage *M. lucida* accrue de globules blancs ($\times 10^3/\mu\text{l}$) significative ($P < 0,05$) dans les groupes C1, C2, C3 et ($5,45 \pm 0,03$, $6,00 \pm 0,05$, et $5,60$ (AST) étaient significativement plus faibles dans tous les groupes de traitement, et les niveaux de phosphatase alcaline (ALP) étaient significativement plus faibles dans les groupes C et E. Par rapport au groupe A, les taux d'aspartate aminotransférase (AST) étaient significativement plus faibles dans tous les groupes de traitement et les niveaux de phosphatases alcalines (ALP) significativement plus faibles dans le groupe B. Les traitements n'ont donc pas amélioré tous les paramètres hématologiques chez les souris porteuses de RD. Des réponses immunitaires, étaient sans danger aux doses administrées et par conséquent peuvent être bénéfiques dans le traitement du cancer.

Introduction

Anaemia is a condition characterised by a decrease in number of red blood cells (RBCs) or their oxygen-carrying capacity and it is defined as a haemoglobin concentration of less than 12 g/dl in males and below 11 g/dl in females (Deyan, 2012). As the most common haematological disorder, anaemia constitutes a major health problem in both developed and developing countries of the world with devastating consequences on human health as well as social and economic development (Christopher, 2012). The 2011 global estimates suggest anaemia affects around 800 million children and women (WHO, 2015). About 1 million deaths a year can be attributed to anaemia, with a very large proportion occurring in Africa and South-East Asia; the cause is multifactorial, including nutritional deficiencies, pathological states and haemoglobin disorders (Kayode and Adeolu, 2012). Although it commonly occurs in children and pregnant women, it affects all stages of life (Okafor *et al.*, 2013).

Over the years, various forms of cancer, including lung cancer and rhabdomyosarcoma, have been associated with anaemia. Its prevalence among cancer patients varies widely, ranging from 30% to 90%, depending on the type

of cancer (Wanitchar and Mongkol, 2012). Several case studies have frequently found rhabdomyosarcoma (the most common malignant soft tissue tumor in children) patients, to be anaemic (Ocheke *et al.*, 2011). The presence of anaemia reduces the quality of life and shortens survival periods for several cancers, thus increasing mortality in cancer patients since it is also responsible for low immunity to infections. (Ocheke *et al.*, 2011; Dia and Ismael, 2012). The mechanisms underlying the incidence of anaemia in cancer patients have been noted to include bleeding from tumor sites, nutritional deficiencies (including iron metabolism disorder), bone marrow damage, tumor infiltration of bone marrow, and myelosuppressive effect of anticancer therapy (Wanitchar and Mongkol, 2012). Also, cancers are often associated with the production of inflammatory cytokines, such as tumor necrosis factor- α (TNF- α), interferon-gamma (INF- γ) and interleukin-1 (IL-1) which may cause decrease in hemoglobin levels by haemolysis, suppression of erythropoiesis, and impairment of erythropoietin response to erythroid medullary precursors (Wanitchar and Mongkol, 2012). The result, anaemia.

Morinda lucida (Rubiaceae) is a tropical West Africa rainforest tree called Brimstone

tree. It is known as 'Oruwo' or 'Oowo' in Yoruba dialects of Nigeria. In Nigeria, *M. lucida* is one of the commonly used medicinal plants for the management/treatment of various types of ailments. Various extracts of its leaf have been recommended for the treatment of trypanosomiasis (Alli *et al.*, 2011), coccidiosis (Ola-Fadunsin and Ademola, 2014), diabetes (Adeneye and Agbaje, 2008; Adejuwon, 2013) and microbial infections such as pneumonia and yellow fever (Bright *et al.*, 2013), while Adejo *et al.* (2015) postulated the efficacy of *M. lucida* in managing diarrhoea that may result from *Ebola*. More so, the effectiveness of the raw liquid extract of the leaf of *M. lucida* in the treatment of human malaria has been reported by Mathew and Elizabeth (2014).

Alli *et al.* (2011) and Saganwan *et al.* (2014) demonstrated that extracts of *M. lucida* leaf improved packed cell volume (PCV) and haemoglobin (Hb) concentration in animal models. There is however little information on the anti-anaemic activity of this plant in cancer or in tumor-bearing animals. Therefore, the present study was carried out to determine the potential of extracts of *M. lucida* leaf to correct or alleviate anaemia associated with cancer and the safety of the extracts in therapy.

Materials and Methods

Plant materials

The fresh leaves of *Morinda lucida* were collected from Amina way, University of Ibadan, Ibadan, Oyo State and authenticated at the Forestry Research Institute, Ibadan, Nigeria (FRIN), where specimen number (FHI.110162) was deposited. The collected leaves were cleaned, air dried and macerated. The macerated samples were then used for aqueous and ethanol extractions.

Extraction of plant extracts

The method described by Gyamfi *et al.* (1999) was used with little modification. 120g of the macerated leaf was dissolved in 1000ml of distilled water for 24hrs; another 120g of the macerated leaf was dissolved in 1000ml of ethanol for 72hrs. Each of the mixtures was then

filtered first with muslin cloth and with a Whatman filter paper into a beaker. The filtrate was evaporated to dryness on a water bath and the dried concentrated extract was stored in a refrigerator until required for use.

Experimental animals

Forty Balb/C mice of both sexes aged 8-10 weeks old weighing 20-25g were purchased from the International Institute of Tropical Agriculture (IITA) and were housed five per cage at the Animal house, Department of Zoology, University of Ibadan, Oyo state, Nigeria receiving standard feed pellets and water *ad libitu*. They were allowed to acclimatise to the new environment for one week. All experiments were conducted in accordance with the NIH Guidelines on the care and use of laboratory animals.

Rhabdomyosarcoma (RD) cells

Rhabdomyosarcoma (RD) cells were obtained from the Virology unit of University of Ibadan College Hospital (UCH), Ibadan. 0.4ml of RD cell suspension at 1×10^6 /ml was given to all the groups of the mice by intraperitoneal (i.p) injections (taken as day 0). A second dose was given 10 days after the first dose. Treatment with plant extracts was commenced three days after the second dose.

Experimental design

After acclimatisation, the mice were randomly assigned to one of the following experimental groups: Group A was implanted intraperitoneally with rhabdomyosarcoma cells, no treatment was given; Group B1 received 100 mg/kg body weight (b.w) aqueous *M. lucida* leaf extract; Group B2 received 200 mg/kg b.w aqueous *M. lucida* leaf extract; Group B3 received 300 mg/kg b.w aqueous *M. lucida* leaf extract; Group C1 received 100 mg/kg b.w ethanolic *M. lucida* leaf extract; Group C2 received 200 mg/kg b.w ethanolic *M. lucida* leaf extract; Group C3: received 300 mg/kg b.w ethanolic *M. lucida* leaf extract. Group D received 5mg/kg b.w cisplatin (standard anticancer drug). Distilled water was

administered to group A while the extracts were given to groups B and C by oral gavage daily for two weeks. Cisplatin was given by intraperitoneal injections twice a week. 24hrs after the administration of last dose, blood samples for hematological and biochemical assays were collected from each mouse through the orbital sinus with heparinised capillary tubes into EDTA-treated bottles and plain bottles respectively. Thereafter, mice were sacrificed. Haematological parameters were determined using standard procedures (Mukherjee *et al.*, 2007). The procedure described by Reitman and Frankel (1957) was employed for the assay of Alanine Aminotransferase (ALT), Alkaline phosphatase (ALP) and Aspartate Aminotransferase (AST).

Statistical Analysis

The results were expressed as Mean $\pm$ Standard Error (Mean $\pm$ S.E). The statistical analyses were performed by One-way Analysis of variance (ANOVA), followed by Tukey's Multiple Comparison Test, using Graphpad Prism (5.02 version). Differences were considered significant at $p < 0.05$.

Results

Extracts of *M. lucida* did not significantly improve all the haematological parameters in rhabdomyosarcoma implanted mice (Tables 1 and 2). PCV, Hb, and RBC values in the extract treated mice were not significantly higher ($p > 0.05$) than those of untreated mice. However, WBC values were significantly increased ($p < 0.05$) by ethanolic extracts and cisplatin when compared with the untreated control, (Table 2). Lymphocyte count was significantly lower ($p < 0.05$) in aqueous extract treated mice when compared with the untreated control. Neutrophil levels were significantly higher ($p < 0.05$) in all treatment groups (27-36%) when compared with the untreated control group (21%). Platelet count in group A was significantly lower ($p < 0.05$) ($74,000 \times 10^3/\mu\text{l}$) when compared with all treatment groups ($92,000 \times 10^3/\mu\text{l}$ - $166,000 \times 10^3/\mu\text{l}$) except group B2 ($64,000 \times 10^3/\mu\text{l}$).

AST level was significantly higher in the untreated control (140.05 U/L) when compared with the treatment groups (98.33-123.03 U/L) (Table 3). ALP was significantly higher ($p < 0.05$) in untreated mice (Group A) (69.04) when compared with mice treated with aqueous extract in groups B1, B2, B3 and group E, cisplatin (45.19-61.54).

Table 1: Effect of *Morinda lucida* extracts on PCV, Hb and RBC counts.

GROUPS	PCV (%)	H.b (g/dl)	RBC ($\times 10^6/\mu\text{l}$)
A (untreated, RD only)	45.00 ± 1.00^a	15.00 ± 0.15^a	8.67 ± 0.00^a
Aqueous extract			
B1 (100mg/kg)	45.00 ± 0.50^a	15.00 ± 0.25^a	8.76 ± 0.01^a
B2 (200mg/kg)	46.00 ± 0.50^a	15.60 ± 0.05^a	7.40 ± 0.05^{ab}
B3 (300mg/kg)	40.00 ± 0.50^b	13.30 ± 0.15^b	8.59 ± 0.01^a
Ethanol extract			
C1 (100mg/kg)	45.00 ± 1.00^a	15.00 ± 0.10^a	7.11 ± 0.01^b
C2 (200mg/kg)	45.00 ± 1.00^a	15.00 ± 0.25^a	7.22 ± 0.05^b
C3 (300mg/kg)	46.00 ± 1.00^a	15.30 ± 0.05^a	8.83 ± 0.02^a
E (cisplatin)	31.00 ± 0.50^c	10.30 ± 0.05^c	6.44 ± 0.00^c

*Means with the same superscripts along columns are not significantly different ($p < 0.05$)

Table 2: Effect of *Morinda lucida* extracts on WBC, lymphocyte, neutrophil and platelet counts

GROUPS	WBC ($\times 10^3/\mu\text{l}$)	Lymphocyte (%)	Neutrophil (%)	Platelet ($10^3/\mu\text{l}$)
A (untreated, RD only)	3.25 ± 0.03^c	74.00 ± 0.02^a	21.00 ± 0.05^b	$74,000 \pm 5.00^c$
Aqueous extract				
B1 (100mg/kg)	5.00 ± 0.31^b	66.00 ± 0.50^b	31.00 ± 0.50^a	$92,000 \pm 5.50^b$
B2 (200mg/kg)	3.50 ± 0.05^c	67.00 ± 0.50^b	28.00 ± 0.25^a	$64,000 \pm 50.00^c$
B3(300mg/kg)	7.00 ± 0.10^a	63.00 ± 0.50^b	31.00 ± 0.50^a	$166,000 \pm 489.00^a$
Ethanol extract				
C1(100mg/kg)	5.45 ± 0.03^b	64.00 ± 0.50^b	32.00 ± 0.50^a	$92,000 \pm 450.00^b$
C2(200mg/kg)	6.00 ± 0.05^b	55.00 ± 0.50^c	36.00 ± 0.50^a	$117,000 \pm 5.00^b$
C3(300mg/kg)	5.60 ± 0.10^b	61.00 ± 0.50^{ab}	33.00 ± 0.50^a	$95,000 \pm 25.00^b$
E(cisplatin)	6.00 ± 0.03^b	70.00 ± 0.02^b	27.00 ± 0.50^a	$133,000 \pm 250.00^a$

*Means with the same superscripts along columns are not significantly different ($p < 0.05$)

Table 3: Effect of *Morinda lucida* extracts on biochemical parameters

GROUPS	AST (U/L)	ALT (U/L)	ALP (U/L)
A (untreated, RD only)			
Aqueous extract	140.05 ± 7.04^a	25.51 ± 1.84^b	69.04 ± 0.58^a
B1 (100mg/kg)	98.33 ± 21.33^c	26.35 ± 13.35^b	61.54 ± 3.75^b
B2 (200mg/kg)	112.55 ± 12.04^c	33.64 ± 16.64^a	47.31 ± 4.23^c
B3(300mg/kg)	104.96 ± 14.40^c	21.82 ± 2.67^b	45.19 ± 1.73^c
Ethanol extract			
C1(100mg/kg)	104.93 ± 6.59^c	27.50 ± 12.20^b	57.31 ± 3.46^b
C2(200mg/kg)	123.03 ± 23.03^b	18.36 ± 9.36^c	68.85 ± 34.43^a
C3(300mg/kg)	99.99 ± 9.62^c	30.34 ± 3.50^a	56.35 ± 5.58^b
E(cisplatin)	102.61 ± 13.62^c	25.91 ± 7.26^b	55.20 ± 2.89^b

*Means with the same superscripts along columns are not significantly different ($p < 0.05$)

Discussion

Anaemia rarely occurs alone, it often co-exists with underlying infection or health disorder (Kayode and Adeolu, 2012). Low PCV, RBC and Hb have been previously reported in cancer induced mice (Subramanian *et al.*, 2011; Baskar *et al.*, 2012). Anaemic conditions in tumour bearing mice is mainly due to reduction in RBC or haemoglobin percentage, which occurs either as a result of iron deficiency or haemolytic

myelopathic conditions (Subramanian *et al.*, 2011). In this study, the PCV, Hb and RBC levels in the untreated mice were not significantly lower than those of extract treatment groups, and were still within normal ranges which may be because tumours were not fully established in the RD cell bearing mice. However, the lowest PCV value (31%) obtained in group E- cisplatin treated mice was significantly lower than in the untreated mice (group A) which indicates the contribution of chemotherapy to the incidence of anaemia in

cancer (Demetri, 2001).

The significantly reduced WBC count observed in the untreated control (Group A) shows the immunosuppressive ability of rhabdomyosarcoma cells. This concurs with the report of Khanna *et al.* (2012) that rhabdomyosarcoma cancer damages the bone marrow which could then lead to reduction in white blood cell count. The WBC counts were significantly elevated by the administration of extracts of *M. lucida*, suggesting the ability of *M. lucida* to improve immune system function.

Platelets play major role in mediating blood clotting and in modulating inflammatory and immune responses. The significant increase in the platelet counts observed in both cisplatin and all extract treated groups except B2 (200 mg/kg aqueous extract) may be an indication that cisplatin and extracts of *M. lucida* have stimulatory effects on megakaryocytes that regulate platelet production and release (Arise *et al.*, 2013). Our results agree with the study of Basakar *et al.* (2012), who reported lower platelet count in untreated tumour bearing mice when compared with mice treated with ethanol extract of *Impatiens balsamina*.

The measurement of the activities of certain enzymes in tissues and body fluids serves as a useful tool in diagnosis, disease investigation and in the assessment of safety or toxicity risk of drug or plant extract (Bamisaye *et al.*, 2013). Enzymes AST and ALT are majorly present in hepatocytes, serving as useful biomarkers in assessing the degree of inflammation (Ghouri *et al.*, 2010). In pathological conditions of the liver which include cirrhosis and many times, side effects of some drugs, there is a leak of these enzymes into the serum, thus raising their activity (Bamisaye *et al.*, 2013). AST values at all administered doses of the extracts showed significantly lower serum levels when compared with the untreated control, indicating that extracts of *M. lucida* administered at these doses are safe. ALP is a marker enzyme for the plasma membrane and endoplasmic reticulum and often employed in assessing the integrity of the plasma membrane such that any alteration in the activity of the enzyme in the serum would indicate likely damage to the plasma membrane (Adeyemi *et al.*, 2015). RD cell inoculation raised the level

of liver ALP in the serum, implying that the integrity of hepatocyte plasma membrane has been compromised, thereby causing increase in the release of the enzyme to the serum. The loss of the enzyme from liver in to the serum may probably be attributed to disruption of ordered lipid bi-layer of the membrane structure. Groups B1-B3 which were given aqueous extracts of *M. lucida* had significantly lower levels compared with group A. This suggests the hepatoprotective activity of *M. lucida*, inhibiting the leakage of the enzyme.

Conclusion

The present study demonstrated that although *M. lucida* leaf extracts did not stimulate erythropoiesis, the extracts improved immune system function and can safely be used in therapy at the administered doses. The use of this plant will therefore be beneficial in normalizing compromised immune systems particularly associated with cancer.

Acknowledgement

We wish to thank Prof Georgina N. Odaibo of the Department of Virology, College of Medicine, University of Ibadan, Nigeria for kindly providing the rhabdomyosarcoma cells.

References

- Adejo G.O, Akintayo C.O, Obinna M (2015). *Morinda lucida* leaf and fruit extracts may attenuate diarrhea arising from ebola. *Basic Research Journal of Medicine and Clinical Sciences*. 4(3): 95-100.
- Adejuwon, A.A (2013). Profile of *Morinda lucida* leaf fractions on blood glucose and lipids in normal and alloxan-induced hyperglycaemic rats. *Pharmacologia*. 4(5):408-413.
- Adeyemi, O.T., Osilesi O., Adebawo, O.O., Onajobi, D.F., Oyedemi, O.S., Afolayan, A.J (2015). Alkaline Phosphatase (ALP), Aspartate Aminotransferase (AST) and Alanine Aminotransferase (ALT) Activities in Selected Tissues of Rats Fed on Processed Atlantic Horse Mackerel (*Trachurus trachurus*). *Advances in Bioscience and Biotechnology*, 6:139-152.

- <http://dx.doi.org/10.4236/abb.2015.63014>.
- Adeneye, A. A. and Agbaje E. O. (2008). Pharmacological evaluation of oral hypoglycemic and antidiabetic effects of fresh leaves ethanol extract of *Morinda lucida* benth in normal and alloxan-induced diabetic rats. *African Journal of Biomedical Research*. 11: 65-71.
- Alli L. A., Okochi V. I. and Adesokan A. A. (2011). Antitrypanosomal activity and haematological effects of aqueous extract of leaves of *Morinda lucida* on *Trypanosoma brucei brucei* infected rats. *Asian Journal of Pharmaceutical and Health Sciences* 1: 111- 115.
- Arise R. O., Malomo S. O., Bolarinwa O. A. (2013). Comparative Antimalarial and Safety Attributes of Methanolic Extract of leaves of *Tithonia diversifolia* and *Murinda lucida* in Animal Models. *American Journal of Drug Discovery and Development*. DOI:10.3923/ajdd.1-9.
- Bamisaye F. A., Odutuga A. A., Minari J. B., Dairo J. O., Oluba O. M., Babatola L. J. (2013). Evaluation of hypoglycemic and toxicological effects of leaf extracts of *Morinda lucida* in hyperglycemic albinorats. *International research journal of biochemistry and bioinformatics*. 3(2):37-43.
- Basakar N., Devi P. B., Jayakar B. (2012). Anticancer studies on ethanol extract of *Impatiens balsamina*. *International Journal of Research in Ayurveda and Pharmacy*. 3(4):1-3.
- Bright, S. A., Harry, T. O., Reginald, N. K. G., Cynthia, O. U., David, N. M. (2013). Phytochemical Screening and Antimicrobial Study on the leaves of *Morinda lucida* (Rubiaceae). *Journal of Natural Sciences Research*. 3(14):132-135.
- Cheesbrough, M. (2004). District Laboratory Practice in Tropical Countries Part 2, Cambridge low price edition, Cambridge University press, 434pp.
- Christopher V. Charles (2012). Iron Deficiency Anemia: A Public Health Problem of Global Proportions, Public Health - Methodology, Environmental and Systems Issues, Prof. Jay Maddock (Ed.), ISBN: 978-953-51-0641-8, *InTech*.
- Demetri GD (2001). Anemia and its functional consequences in cancer patients: Current challenges in management and prospects for improving therapy. *British Journal of Cancer*. 84(Suppl. 1): 31-37.
- Deyan N. D. (2012). The hemoglobin level as a prognostic factor in patients with non- small cell lung cancer treated with gemcitabine and cis- platinum. *Journal of the International Medical Association Bulgaria (IMAB) - Annual Proceeding (Scientific Papers)*. 18(1):209-212.
- Dia S, Ismael N (2012): Risk factors for anemia in preschool children in Sub-Saharan Africa, Anemia, Dr. Donald Silverberg (Ed), ISBN 978-953-51-0138-3 *InTech*.
- Fabiny, D. L. and Ertingshausen G. 1971. Automated reaction-rate method for determination of serum creatinine with centrifichem. *Clinical Chemistry*. 17:696.
- Ghouri, N., Preiss, D., and Sattar, N. (2010). Liver enzymes, nonalcoholic fatty liver disease, and incident cardiovascular disease: a narrative review and clinical perspective of prospective data. *Hepatology*. 52 (3): 1156-61. doi:10.1002/hep.23789. PMID 20658466.
- Gyamfi M. A., Yonamine M., Aniya Y. (1999). "Free-radical scavenging action of medicinal herbs from Ghana: *Thonningia sanguinea* on experimentally-induced liver injuries." *General Pharmacology*. 32:661-667.
- Kayode, O. O. and Adeolu, O. O. (2012). Anaemia in Developing Countries: Burden and Prospects of Prevention and Control, Anemia, Dr. Donald Silverberg (Ed.), ISBN: 978 953-51-0138-3, *InTech*, Available from: <http://www.intechopen.com/books/anemia/anaemia-in-developing-countries-burden-and-prospects-of-prevention-and-control-700>.
- Khanna, R., Belurkar, D. M., Manohar, C., Ray, S., Srilatha P., Suvama, N. (2012). Rhabdomyosarcoma with Bone Marrow Infiltration: A Diagnostic Dilemma. *The Internet Journal of Oncology*.
- Mathew, F. O. and Elizabeth, M. B. (2014). Evaluation of Parasite Density, Plasma Total Bile Acids, Alanine Transaminase, Lactate Dehydrogenase and CD4 in Plasmodium Infected Patients Treated with *Morinda lucida* (Oowo). *American Journal of Biochemistry*. 4(3): 52-58 DOI: 10.5923/j.ajb.20140403.03.
- Mohamed A. A. N., Hamad M. H. (2012). Serum Creatinine, Albumin and Urine Protein in Hypertensive Patients. *Indian Journal of Basic & Applied Medical Research*. 1(4):292-295.
- Mukherjee, A., Dutta, S., Sanyal, U., 2007. Evaluation of *Dimethoxydop-NU* as novel antitumor agent. *Journal of Experimental Clinical Cancer Research* 26: 489-497.
- Nyblom H, Berggren U, Balldin J, Olsson R 2004. High AST/ALT ratio may indicate advanced alcoholic liver disease rather than heavy drinking. *Alcohol*. 39(4): 336-339.
- Ocheke, A. N., Umar N. I., Silas O. A., Tanko, N. M., Mutihir J. T. 2011. Embryonal rhabdomyosarcoma of the cervix. *African journal of Paediatric*

- Surgery* 8: 95-7.
- Okafor, I.M., Asemota, E.A., Antai, A. B. and Usanga, E.A(2013). Prevalence of Iron Deficiency Anaemia among Pregnant Women in Calabar, Cross River State Nigeria. *IOSR Journal of Pharmacy and Biological Sciences*. 7(2):60-64
- Ola-Fadunsin, S.D and Ademola, I.O (2014). Anticoccidial effects of *Morinda lucida* acetone extracts on broiler chickens naturally infected with *Eimeria* species. *Pharmaceutical Biology*. 52 (3):330-334.
- Oyewole, O.I., Oladipupo, O.T and B. V. Atoyebi, B.V 2012. Assessment of renal and hepatic functions in rats administered methanolic leaf extract of *Jatropha tanjorensis*,” *Annals of Biological Research*. 3(2):837–841.
- Reitman, S and Frankel, S 1957. A colorimetric method for the determination of serum GOT and GPT. *American Journal of Clinical Pathology*. 28: 56-63.
- Saganuwan, S.A., Aondoaver, A.D and Roman, I.T 2014. Reassessment of Acute and Chronic Toxicity Effects of Aqueous Leaf Extract of *Morinda lucida* in *Rattus norvegicus*. *Journal of Hematology Research*. 1:36-46
- Subramanian V, Gowry S (2011). Antitumor Activity and Antioxidant Role of *Brassica oleracea Italica* against ehrlich ascites Carcinoma in Swiss Albino Mice. *Research Journal of Pharmaceutical, Biological and Chemical Sciences*. 2(3): 275-285.
- Wanitchar W, Mongkol B (2012). Presence of Anemia and Poor Prognostic Factors in Patients with Endometrial Carcinoma. *Asian Pacific Journal of Cancer Prevention*. 13:3187-3190.
- WHO (2015). The global prevalence of anaemia in 2011. *Geneva*: World Health Organization.

*Ala, A. A.¹, Abdulkareem, A. O.², Akomolafe D. F.³, and Ohia, C.M.D.⁴

© 2017 African Journal of Environmental Health Sciences

Volume 4 [1] November, 2017

ISSN: 2476-8030

pp 61-68

